QUANTITATIVE HOMEWORK 

(Geometry)

Name:____________________

Date:_____________________

1.

	 In the figure to the right, what is the value of x? 

(A) 30 
(B) 32 
(C) 35 
(D) 40 
(E) 47
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2.
	In the figure to the right, O is both the center of the circle with radius 2 and a vertex of the square OPRS. What is the length of diagonal PS? 

(A) 1/2 
(B) 1 
(C) 4 
(D) 2 
(E) 2/3
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3.
	 In the figure to the right, the circle is centered at the origin and passes through point P. Which of the following points does it also pass through? 

(A) (3, 3) 
(B)  (-2√2, -1)
(C) (2, 6) 
(D) (1.5, 1.3) 
(E) (-3, 4)
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4.
	In the figure to the right, polygon PQRO is a square and T is the midpoint of side QR. What are the coordinates of T ? 

(A) (1, 1) 
(B) (1, 2) 
(C) (1.5, 1.5) 
(D) (2, 1) 
(E) (2, 3)
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5. 

	Example: In the figure to the right, what is the slope of line passing through the two points? 

(A) 1/4 
(B) 1 
(C) 1/2 
(D) 3/2 
(E) 2
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6.  
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	Example:
	Column A
	The equation of the line above is y = 9x/10 + k
	Column B

	
	AO
	
	BO


(A) The quantity in column A is greater 
(B) The quantity in column B is greater 
(C) The quantities are equal 
(D) The relationship cannot be determined    
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